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EXAM DATE : 22-January-2018
EXAM NAME : SSC Examination
TOTAL MARKS : 200

QID : 1- In the following question, select the related word pair from the given alternatives.

Rain: Clouds :: ?:?
Fefeiaa na ¥ e o Geed d 9 Jefta e gm &g

auf:aree::?:?

Options:

1) Rice : Food

=hee | G

2) Grey : Colour
bcraia |

3) Heat : Sun

i

4) Snow : Mountains
ah  oda

Correct Answer: Heat : Sun
i

Candidate Answer: Heat : Sun
et

QID : 2 - In the following question, select the related word from the given alternatives.
Cactus : Plant: : Rice: ?

PrfefEe nad Ry mo fAeed 4 9 9d6ida = &t gl

Shered ;e : : ETER : ?

Options:
1) Basmati
GiEeer)|

2) Crop
e

3) White
T

4) Rabi
<t

Correct Answer: Crop
el

Candidate Answer: Crop
e

QID : 3 - In the following question, select the related word from the given alternatives.
Pink : Colour : : Eagle : ?

FfafEe nad e mo B | € Teit 2= g

LS B e

Options:

1) Black
ThTAT

2) Symbol

g

3) Bird

gaft

4) Sky

HTHIRT

Correct Answer: Bird
aeft
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Candidate Answer: Bird
gaft

QID : 4 - In the following question, select the related letter pair from the given alternatives.

Options:
1) EAT : YUN

2) EAT : XXM

3) FAT : LMV

4) EAT : ZXC

Correct Answer: EAT : YUN

Candidate Answer: [ NOT ANSWERED |

QID : 5 - In the following question, select the related letters from the given alternatives.
LERI : PJVN : : MONT :?

Frfeiaa na d e o Greed & @ Jufta s & 9w

LERI: PJVN : : MONT : ?

Options:
1) WRTY

2) QTRY
3) RITY

4) RQYB
Correct Answer: QTRY
Candidate Answer: [ NOT ANSWERED |

QID : 6 - In the following question, select the related letters from the given alternatives.
SAT:WEX:: MET:?
FrfeiaE ua d Ry m freed & 9§ Jefa s & g

SAT:WEX:: MET:?
Options:

1) AQI
2) IYX
3) FHY

4) QIX
Correct Answer: QIX
Candidate Answer: | NOT ANSWERED |

QID : 7 - In the following question, select the related number from the given alternatives.
43:7::23:7

Pt na d Ry my freedi 4 9 aiie e @ gh)

4:7::23:7

Options:

1)6

24

3)7

45
Correct Answer: 5
Candidate Answer: 4
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QID : 8 - In the following question, select the related number from the given alternatives.
38:53::53:7
i na d R e Reed # @ S=iia e @ g

38:53::53:7

Options:
172

4) 87
Correct Answer: 68
Candidate Answer: 68

QID : 9 - In the following question, select the related number from the given alternatives.
9:81::11:7
P na # Ry e e 7 & S6fia @en @ g

9:81::11:7
Options:
1) 78

2)93
3) 121

4) 146
Correct Answer: 121
Candidate Answer: 121

QID : 10 - In the following question, select the odd word from the given alternatives.

et nad Ry e e d 9 ffom a= & gk
Options:

1) Goggle

=y

2) Purse

o

3) Accessories
Tgras g
4) Belt
o
Correct Answer: Accessories
Hgras G
Candidate Answer: Accessories
TgTas g

QID : 11 - In the following question, select the odd word from the given alternatives.

i na # R me e 7 9 e o= = gim)

Options:
1) Grapes

SRR
2) Guava
HHEG

3) Cauliflower

4) Orange

e

Correct Answer: Cauliflower
e

Candidate Answer: Cauliflower
et

QID : 12 - In the following question, select the odd word from the given alternatives.

Fraferi@ra na # Ry e e # 9 fwm a= =t 9w
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Options:
1) Sparrow
fafgan

2) ﬁat
kel
3) Ostrich

4) Parrot
afen

Correct Answer: Rat
el

Candidate Answer: Rat
Eall

QID : 13 - In the following question, select the odd letters from the given alternatives.

i na ¥ e o feed d§ 9 fAem sreri o g
Options:

1) GCXTO

2) KGBXS

3) RNIEX

4) QMHDY

Correct Answer: RNIEX

Candidate Answer: [ NOT ANSWERED |

QID : 14 - In the following question, select the odd letters from the given alternatives.

Frfeiaa na o g o el & 9 fem srami &t gim)
Options:

1) SOKG

2) AWSO

3) RNJF

4) CYTP

Correct Answer: CYTP

Candidate Answer: [ NOT ANSWERED |

QID : 15 - In the following question, select the odd letters from the given alternatives.

Frfeiee na# Ry o fEeed A & B stari ot g
Options:

1) KNQ

2) DGJ

3) WZB

4) TWZ

Correct Answer: WZB

Candidate Answer: WZB

QID : 16 - In the following question, select the odd number from the given alternatives.

FmfafEe na ¥ g mo feed § 9 fRem den w1 gfl
Options:

1H7-11

2)12-16

3)14-18

4)9-15

Correct Answer: 9 - 15

Candidate Answer: 9 — 15

QID : 17 - In the following question, select the odd number from the given alternatives.

P uad e me fBeed # 2 o den w1 gfal
Options:

)2-4

2)3-9

3)4-18

4 5-25

Correct Answer: 4 — 18

Candidate Answer: 4—18

QID : 18 - In the following question, select the odd number pair from the given alternatives.

Frfeiaa uad e e et & 9 o g g &t gl
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Options:

1) 76 — 42

2)92-20

3) 723 —21

4) 93 - 27

Correct Answer: 92 — 20

Candidate Answer: [ NOT ANSWERED |

QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Flagrant
2. Flavour
3. Flatter
4. Flick

5. Flawed

Frefefera areel =i sreent & 3 aret & & AR ford)

1. Flagrant
2. Flavour
3. Flatter
4. Flick

5. Flawed

Options:
1) 13254
2) 31254
3) 23541

4) 32541
Correct Answer: 13254
Candidate Answer: 31254

QID : 20 - According to dictionary, which of the following word will come at THIRD positicn?

1. Heritage
2. Helpful
3. Hectic
4. Heroic
5. Heroism

YEEER T & Sy, Aeferfem # | e o weg e T o amdm?

1. Heritage
2. Helpful
3. Hectic
4. Heroic
5. Heroism

Options:
1) Hectic

2) Heritage
3) Heroic

4) Helpful
Correct Answer: Heritage
Candidate Answer: Heritage

QID : 21 - From the given alternatives, according to dictionary, which word will come at LAST position?

w mu freretll § |, aregEia & S, w41 2Tes S ferd T U ah?

Options:

1) Juvenile

2) Justify

3) Judge

4) Justice

Correct Answer: Juvenile

Candidate Answer: Juvenile

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FMT?HO0

U R T &, o 9 v ug e @1 Ry e et A 2 9y vl e g, S ergen g

FMT?HO0
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Options:
1)B

2)C
3)A

4)D
Correct Answer: A
Candidate Answer: A

QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ROK, LIE, FCY, ZWS, ?
Ue fRn T man &, s & v g g @1 Ry o e A 2 oy vl fAeen g, S e g s

ROK, LIE, FCY,ZWS, ?
Options:

1) LAQ

2) SRV

3) TaMm

4) FMQ
Correct Answer: TQM
Candidate Answer: TOM

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FAQ, LGW, RMC, ?, DYO
T rgeRd T man g, o € o ue g 1 R g freredi A 2 g wel Rreeen gffg, S s = g

FAQ, LGW, RMC, 7, DYO
Options:
1) VIR

2) XSl
3) LSl

4) MIS
Correct Answer: XS
Candidate Answer: [ NOT ANSWERED |

QID : 25 - In the following question, select the missing number fiom the given alternatives.
14, 22,49, 113, 238, ?
Frfeiea na A e o e J§ 9 g s 7 Fifeg

14, 22,49, 113,238, 7
Options:

1) 386

2) 532

3) 454

4) 576

Correct Answer: 454

Candidate Answer: [ NOT ANSWERED |

QID : 26 - In the following question, select the missing number from the given alternatives.
42,21,21,31.5, 63,7
Frfefee na# g oo Eeed & 2 g s 7 S

42,21,21,31.5,63,7
Options:

1) 169.75

2) 157.5

3) 152.5

4) 126.75

Correct Answer: 157.5
Candidate Answer: [ NOT ANSWERED |
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QID : 27 - In the following question, select the missing number from the given alternatives.
14, 44,135, 409, 1232, 7
Frfeies na# Ry o e A 9 g s 7 Fifsm |

14, 44,135, 409,1232, 7
Options:
1) 2962
2) 3340
3) 3702
4) 3406

Correct Answer: 3702
Candidate Answer: [ NOT ANSWERED |

QID : 28 - E is sitting between D and A, B is to the right of A, C is at one of the ends and C and D are sitting next to each other. Who is sitting third?

EDRAGFa &1, B AF TR iR E, C, v YR A MR C 3R D usr gt & ot H &3 1 Y T R & @31 87
Options:

1D

2 A

3B

4 E
Correct Answer: E
Candidate Answer: E

QID : 29 - Showing a photograph of a married couple B said that the gentleman in it was his father's father and A said that the lady in it was her mother. How is A
related to B?

Ueh AMTEILIET TS o1 Whre! feand g9 B 7 ohgl o 98 &t Too § o 3% foran & foran & ofie A% orgn 6 38 ot &0 & ag aaeht A off | A, B @ fre arg Hdfda 82

Options:

1) A is B's mother's sister
ABHiAiHIEEAE

2) Ais B's sister

A B&H EEAE

3) Ais B's Father's sister
ABH A agT g

4) Ais B's mother
ABHAIE

Correct Answer: A is B's Father's sister
ABFafiagTg

Candidate Answer: A is B's Father's sister
ABHfafragTd

QID : 30 - From the given alternative words selectthe word which cannot be formed using the letters of the given word.
MERCANTILE
Frfeie Reedi 7 4 a8 weg 9T S Ry g 21 % s1arRT o TEi e A ST o 9

MERCANTILE

Options:
1) truce

2) learn
3) trace

4) claim
Correct Answer: truce
Candidate Answer: truce

QID: 31 - If OLYMFPUS s coded as MJWKNSQ, then how will TEN be coded as?

Ifg OLYMPUS @i &1 ® MJWKNSQ foran iren & @t TEN &t e | a1 fardit?

Options:
1) RCL

2) GVM
3) SDM

4) UFO
Correct Answer: RCL
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Candidate Answer: [ NOT ANSWERED |

QID : 32 - In a certain code language, 1875 means 'wound the round watch' 6143 means 'a cake is round' and 7321 means ‘watch a round wheel'. Find the code for
‘watch.

et ff)a e v & 1875 &1 arf & 'wound the round watch', 6143 =1 312 & 'a cake is round’ 3R 7321 =7 31¢f & 'watch a round wheel'| 'watch' & T g I

Options:
7)1

2)8
3)5

47
Correct Answer: 7
Candidate Answer: 7

QID : 33 - In a certain code language, +' represents - - represents '¥, 'x' represents '+' and +' represents '+'. Find out the answer to the following question.
9% x4+125+25-5=7
Tereft Ffeya i e & '+, - i welifa awan g, -, '} o vefiia e &, %, '+ o welia awar & o '+, '+ ol vefia o &1 Pl va e om am 7

9% x4+125+25-5=7
Options:

1) 23

2) 24

3) 50

48

Correct Answer: 24
Candidate Answer: 24

QID:34-1f17$22=4and 56 $ 13 =7, then find the value of 71 $ 25=7

af217$22=43R 56 $13 =7,a171 $25 = ? =1 A AT FHe?
Options:

1) 56

2) 9%

3)1

4)8

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED |

QID:35-1fA % Bmeans Ais son of B, A# B means A is brother of B and If A * B means A is father of B, then what does X #Y *Z $ W mean?

aEASBT AT ETFABF T A# BT o gFA BT ER AR A*BI I A B &l X # Y *Z $ W o am anf &7
Options:

1) Wis X's brother's wife

W, X & g Frueig

2) Wis X's wife

W, X i oefl &

3) Wis X's mother

W, X &1 31 &

4) Wis X's sister

W X FragTd

Correct Answer: W is X's brother's wife
W, X & W Hru=ti g

Candidate Answer: [ NOT ANSWERED |

www.ErForum.Net

www.ErForum.Net



www.ErForum.Net Page 9

QID:36 -

Select the missing number from the given responses

fo T faremeat & % 7 e Y

10
12

N
O I NI

Options:
1) 3

2)9
3)-3

4 1
Correct Answer: 11
Candidate Answer: 9

QID : 37 - Which of the following terms follows the trend of the given list?
OOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXOX,
FrfefEa & § & a1 ug &1 Tt & &0 & orER &2

DOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXO0X,
Options:
1) XOXXXXO0

2) XOXXX0X
3) OXXXOXX

4) OXXXXXO0
Correct Answer: OXXXXX0
Candidate Answer: OXXXXX0

QID : 38 - A scientist is studying the behaviour of an ant. The ant picks food and walks 5 cm North, then it turns to its right and walks for another 11 cm. then it turns
right and walks 3 cm, then it turns West and walks 15 cm, then finally it turns to its left and walks 2 cm. Where is the ant now with respect to its starting point?

U e Hifedi & SIEER o HeHT o Y81 &1 et @ ISTRT 5 S iee IR & 3R Terdt & ofik fOR o aifee ok ggaw 11 SEmTe It &) fie a8 o anfeet e geew 3
Fnfrer Tt & ofi o o ufdm 61 ofk geae 15 8o g 8| 9 § g8 - =18 o gt § iR 2 S8iier aard §1 e o omeft uifes i & wei &

Options:

1) 4cm East

4 Ferfiex

2) 26 cm West

26 Gérter uffn

3) 4cm West

4 Férftex ufdy

4) 26 cm East

26 FENeR o

Correct Answer: 4 cm West
4 Gérez ufdy

Candidate Answer: 4 cm West
4 ez ufim

QID : 39 - Two football players start running from the same point on the ground. Player A runs 10 km East, then turns to his left and runs 13 km. In the meanwhile
Player B runs 6 km Soutii, then he runs 3 km East, the he turns to his left and runs 19 km. Where is Player A with respect to Player B?

gl peatd e dem & U e fig @ Siean mid o & Faenet A, 10 foreimies gd & ofik hean & ofiR five o ofit geaw 13 foeirer giean &1 ot owa faed B, 6 fereiviier
afeyor &1 off Teren § aun fiRe 3 fEneTites ud it ofi =etan & ofi fife aroef ard afe e 19 foreimie diear 8| Faerdl B & g & feeredt A wei &7
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Options:
1) 7 km West

7 iR

2) 7km East

7 Reeiieiee o

3) 13 km East

13 fereiier od

4) 13 km West

13

Correct Answer: 7 km East
7 Rreiiter o

Candidate Answer: 7 km East
7 feretiiter i

QID : 40 - In the question two statements are given, followed by two conclusions, | and 1. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given staterments.

Statement I: Some chapters are physics
Statement II: All science is physics

Conclusion I: All science is chapters
Conclusion II: Some physics is science

ol 7 & sy el ) € s ot & fersemed | afiR 11 Freprel 1 €1 onTuest AT @ 36 S e O & W 98 ST T a0 & T UelG el 8 smaeRt ot s & & iy g
fPrzret 7 & Sie-a1/Fm-g Rl w0 ¥ Fu R g6 P o1 gea &/ €, aft S 8l

YA |: T Heard Hifeeht §
& II: Toft e oiferh &

frenef I: oft B s &
Frendd 11: g sifehl o= &

Options:

1) Only conclusion | follows

et e | Tt &

2) Only conclusion Il follows
e 1 @@t &

3) Both conclusions | and 11 follow

gt frened | ol 11 Tt &

4) Neither conclusion | nor conclusion I follows

1 gt Frsarel | gt & 1 & fses 11

Correct Answer: Only conclusion Il follows
et foreered 1| wEl &

Candidate Answer: Only conclusion Il follows
et e 1| |E1 &

QID : 41 - In the question three statements are given, followed by three conclusions, I, 11 and 111. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All success is victory
Statement II: All luck is success
Statement Ill: Some hard work is luck

Conclusion I: Some success is hard work
Conclusion II: Some hard work is victory
Conclusion Ill: No victory is luck

ned § offr e R € ovges et e P |, 11 o 111 Freret md &1 smuert AT & R AT e O 2 918 a8 aeaa: I ol @ 99 wdfia gl el et Pofa s & & g e
Forseref & & Sm-an/@m-8 Bfda =0 & su= g 58 Ferer o s /95 & aft s an

& | Tt arerar e @
& 1 gt v e &
e Nl 5 A W g

freerdd I: 7 AweraT AEAa &
Freendd Il: & Agra ItReral &
frend 1l & RBs s At &
Options:

1) Only conclusions | and Il follow
et foeened | ofie 1l &l &

2) Only conclusions Il and il follow

e fersemd 11 i 11 =t @

3) Only conclusions 1 and lll follow
et freerd | o= 111 Tt &

4) All conclusions |, 11 and 111 follow

=T e 1, 1 o 1 TR R

Correct Answer: Only conclusions | and 1l follow
et e | SR 11 T81 &
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Candidate Answer: [ NOT ANSWERED |

QiD:42-

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fFpAferRaeT IR STelcr o I &I AT ° o 1Y
HATPHIT F T T A FART 8T ST FepelT?

O
+ | X|O| X

Options:
1

=)

L)

W

2 &

&

=)
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Correct Answer:

et

Candidate Answer:

s

QiD: 43 -
Which of the following answer figure patterns
can be combined to make the question figure?
fPrferRen S sl § & @i & uftedl o
g U TG wer Tepfer T 9= o b 87

Options:

1)

2)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED |
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QiD: 44 -
In the following figure, squars represents
Professors, triangle represents Social
Workers, circle represents Dieticians
and rectangle represents Men. Which
set of letters represents Dieticians who
are not men?

Frafefea fom o o, drse 1 g=ffa s &,
e Whered st et wefifa oea 8, g St
&I SR ST GOt B Fei¥ia SeaT 31 SERT &1 & 9T
aE o =R o vl e

& il oy el &2

£

Options:
1) EFGI

2) BDKHJ
3) IGAC

4) DEJI
Correct Answer: EFGI
Candidate Answer: EFGI
QID:45-
Which of the following Venn diagrams represents the
relationship between Butterflies, Animials and Insects ?

Fr=iferfiad & 9 i o= R faferl, snead) ik dref
& T ey AT 87
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Options:
1)

2
©
O

3

&

4
g

Correct Answer:

Candidate Answer:

©

QID: 46 -

www.ErForum.Net

Which answer figure will compigte the pattern in the

question figure?

fFreTferiiaes A & PiF-<i] SR STHIT HH TPl &b Hicwy

www.ErForum.Net
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Options:
1)

[N

Correct Answer:

[N

Candidate Answer:

www.ErForum.Net
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QID : 47 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

o it SR spfet 7 & 9w amphy @ g R wa
FHIPier e &1

N\

Options:
1)

N
N /]

2
/

3

2

Correct Answer:

Candidate Answer: [ NOT ANSWERED |

www.ErForum.Net

www.ErForum.Net



www.ErForum.Net Page 17

QID: 48 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

U AP 7 T SR B B HISHN IHH
BT HYT AT GIeT & T1S I8 foey TR DR ST
fommE <m?

------

Options:
1)

O=0

0 0

& M.

Correct Answer:

265

% Cp

www.ErForum.Net
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Candidate Answer:

2659
O O
NS

QID: 49 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

Tfe Uep 0T BT MIN IET UY 9ET A0 & &t it I

aITepferaT A U -t 3TTepTer w4 arepfer 1 el
wferfaes it

2,

Options:

7
N
7
0

www.ErForum.Net

www.ErForum.Net



www.ErForum.Net

Correct Answer:

N

)

Candidate Answer:

-

0)

QID:50-

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-| are numbered from 0 to 4 and that of Matrix-|1
are numbered from 5 to 8. A letter from these matrices can be represented
first by its row and next by its column, for example 'C’ can be represented by
43, 41 etc and 'O’ can be represented by 97, 78 etc. Similarly, you have to
iden[ify the set for the waord 'SPAN".

e ¢ e N - ST St T, SR 9 Rt # 2 faet o A
oo et #1 Fraert & Ry o T T oréret 3 < it e sty g &, S i Ry
TIQ T TR F &1 STTE-1 B T SR Wit B 6 0 3 4 3% STegs-1 B 59 9
B 37 GITCIE] ¥ U S8 T UEe! SHd Gith G T H T WS G S o
T & FTER & A0S w43, 44 ANTE GRT ST ST ST § 9T 10 B o7,
78 ol Iy ST S T 81 9T ove O et 5T aes 'SPAN & B
HHE @ G 2l

Matrix | #TEIE Matrindl TG

1] 1 2 3 4 5 5] 7 8 g
a I It [l | E 5 ] W q u 5
1 . et 1 | A | b ] 5 T u Mo
z F i M 1 E || 7 s z W g v_|
£ | ) A L K | B X 5 P W P
4 [¥] [ A C L a U b (8] ¥ ¥

Options:

1) 66,87,33,56
2) 59,78,42,31
3) 86,89,32,55

4) 78,43,22,98
Correct Answer: 86,89 32,55
Candidate Answer: 86,89,32,55

QID : 51 - Preliminary expenses are the examples of

RfYF=m__ w R gl

Options:
1) Capital expenditure
=g

2) Capital gain

Gefirar ey

3) revenue expenditure

o =g

4) deferred revenue expenditure
T &g

Correct Answer: Capital expenditure
Gsfrma =g

Candidate Answer: [ NOT ANSWERED |

www.ErForum.Net

Page 19

www.ErForum.Net



www.ErForum.Net Page 20

QID : 52 - Which economic activity cannot be included in the tertiary sector?

Feftaes &= 7 & 41 snfdfes nfafafd anfia =81 & s g
Options:

;%;mGinﬁg in a call-centre
Fex | o e

2) Tuition occupation
T g™
3) Bee-keeping
e
4) Banking
afm

Correct Answer: Bee-keeping

AyAEd! ureE

Candidate Answer: Working in a call-centre
et Hex F ohef e

QID : 53 - Which of the following statement is true for the Public Sector Unit?

Frafof@a 5§ & 1 sy g e 3o & fog ag &2

Options:
1) Most of assets is owned by a group of people
aiftyerisr ufezuftal o wnfiea & & 99 & ud g &
2) Most of assets is owned by big companies
o7 iR T gt Shafal & Tanfee | gl &
3) Most of assets is owned by government
Hferepisr aREufa S EHa J gt g
4) Most of assets is owned by an individual
for afEafEl v =feh & am gt &

Correct Answer: Most of assets is owned by government
fererier uRufom aRer @i § g g

Candidate Answer: [ NOT ANSWERED |

QID : 54 - The percentage of India's population in the total population of the world as per 2011 census is:

2011 & FUFT & SER WA 6 FEEn @y 6 sheen § e i &2

Options:
1) 17.5%
2) 18.01%
3) 19.35%
4) 20.25%

Correct Answer: 17.5%
Candidate Answer: [ NOT ANSWERED |

QID : 55 - Which of the following five year plan of India recognized human development as the core of development efforts?

fFrefefEe 7 2 By wdhn daedfo gien 3 oot Reeners v & IR & w0 F o R = e 42

Options:
1) Eighth five year plan
&t e e

2) Ninth five year plan
reff e g
3) Tenth five year plan
gl ety gt

4) Eleventh five year plan
TR dae T g

Correct Answer: Eighth five year plan
Kiceibscuibbice]

Candidate Answer: [ NOT ANSWERED |

QID : 56 - Which of the following thinker is associated with "the concept of political sovereignty"?

FTH & P fEraRe Tt meyg i St § geEfia &7
Options:

1) Maclver

2) Socrates

geprd

3) Rousseau

4) Plato
&l
Correct Answer: Rousseau

Candidate Answer: | NOT ANSWERED |
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QID : 57 - Who said, "A good citizen makes a good state and a bad citizen makes a bad state"?

FoFE™ T U1, 'O ST ARG U 381 90 9141 & 3R 31 A1RE U5 31 3090 a1 87

Options:
1) Plato
we

2) Aristotle

SRE],
3) G. B. Shaw
Sttt «f

4) Rousseau

Correct Answer: Aristotle
HH]
Candidate Answer: [ NOT ANSWERED |

QID : 58 - Panchayat Samiti at the block level in India is a/an

WRd H sl T2 UK &1 tarag gfafa g, I
Options:

1) Advisory Body

U TeTgaR Fama

2) Coordinating Authority only

Sheret THE-T Mo

3) Supervisory Authority only
here Taeft mTfeERRoT

4) Administrative Authority

DRI TfieReeT

Correct Answer: Administrative Authority
TRITEfeR TfeeRReT

Candidate Answer: [ NOT ANSWERED |

QID : 59 - According to Indian Constitution, who decides the salary of members of Parliament?

wedta Sfeem & R, §9g & wewE & 399 o Fofa #F 82
Options:

1) Union Council of Ministers

g Alufieg

2) Parliament

ToE

3) Supreme Court

FEdH ATy

4) President of India

WRE o IFA T

Correct Answer: Parliament

TEE

Candidate Answer: Union Council of Ministers

CEag

QID : 60 - Which one of the following is not correctly matched?

FrfafaEa & o a1 e ad gafea a8 87
Options:

1) Eighth Schedule : Languages

L] : eIy

2) Second Schedule : Form of Oath of office

TS ST : 21Uy Oy

3) Fourth Schedule : Allocation of seats in Rajya Sabha
<refi o : Ied THT § W] e

4) Tenth Schedule : Defection relaied provisions

el g : aet-aea dah mewE

Correct Answer: Second Schedule : Form of Oath of office

TEY AT : 2Ty HrEy

Candidate Answer: Fourth Schedule : Allocation of seats in Rajya Sabha
<reft oY : <o T H ] A e

QID : 61 - When did the Chinese traveler 'Sung Yun' come to India?

<=t A g o YR S T 1?
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Options:

1) 510 AD

510%.

2) 518 AD

5184.

3) 525 AD

525%.

4) 528 AD

528 4.

Correct Answer: 518 AD
518%.

Candidate Answer: 528 AD
528 4.

QID : 62 - Which among the following state 'Odantpuri’ education center was situated?

=g Rien s PrafarfEa | 4 e aog A saf@a o [
Options:
1) Bengal

ST
2) Gujarat
3) Bihar

faER

4) Tamil Nadu
az‘haﬂ'lg

Correct Answer: Bihar
R

Candidate Answer: [ NOT ANSWERED |

QID : 63 - Who was the founder of Bahmani Kingdom?

FEAT GTHTSY ST YL i oT?

Options:
1) Hasan Gangu
FE TR
2) Firoz Shah

Mg
3) Mahmud Gawan
HeTE T
4) Asaf Khan
SHEE G

Correct Answer: Hasan Gangu

BT

Candidate Answer: Hasan Gangu

B TR,

QID : 64 - During whose rule in India did the Khilafat movement begin?

wa & foreeh e & Sfcrfa AR SITel o1 IR gar o1?

Options:
1) Lord Mountbatten
i Adede

2) Lord Dalhousie
e St

3) Lord Chelmsford
e S

4) Lord Curzon
O
Correct Answer: Lord Chelmsford

i i

Candidate Answer: Loid Mountbatten
dife ANeded

QID : 65 - Who among the following was the founder of the Arya Mahila Samaj in the early 1880s?
1880 & &1 & U a1 wfge TamsT g 58 ¥ féraet e
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Options:

1) Swami Dayananda Saraswati
S

2) Swami Vivekananada

@ fdes

3) Ramabai Ranade

THTETE IS

4) Pandita Ramabai

GfEar Trars

Correct Answer: Pandita Ramabai
dfear wrard

Candidate Answer: Pandita Ramabai
e wrard

QID : 66 - Dasht-g Kavir Desert is located in which country?

EA-U-ITR ARy o o & g &7

Options:
1) Iran

2) Saudi Arab

FEe! R

3) Irag

FIEh

4) Sudan

g™

Correct Answer: ran

Candidate Answer: [ NOT ANSWERED |

QID : 67 - Which of the following layers is called "Barysphere"?

Frefefes 7 9 g wa o 'Sk FE ST e?

Options:

1) Earth's most internal layer

orefl &1 T e o

2) Earth's intermediate layer
i Ao U

3) Earth's topmost layer

eef] 1 T SO uRA

4) Lowest part of the atmosphere where climate changes occur
AGHET T Y AT AT SI81 A aiEd g .

Correct Answer: Earth's most internal layer

eef] &1 T e o
Candidate Answer: [ NOT ANSWERED |

QID : 68 - The Blue Nile river originates from which of the following lakes?

=1 At 7l Frafafea A @ frg s g Pt g2

Options:
1) Lake Victoria
[Ecaiteikcl

2) Lake Tana
T et

3) Lake Edward
et i

4) Lake Albert
IFEe e

Correct Answer: Lake Tana
AT S

Candidate Answer: Lake Edward
B

Page 23

QID : 69 - Which of the following states of India has the largest percentage of geographical area under forest as per the report of the Forest survey of India?

VR 7 e 1 ROt & oFER vRa & Fefate § 2 e ae & «frifers & o gaffes ofase o 8 82

Options:
1) Manipur

2) Meghalaya
Ererd
3) Mizoram

4) Nagaland
ANTEUE
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Correct Answer: Mizoram
Eiret

Candidate Answer: Nagaland
ARTIEUE

QID : 70 - At which of the following towns the Alaknanda and the Bhagirathi combines to form River Ganga?

o =R § s og vrfiReft ol e i =< = §2

Options:
1) Haridwar

2) Rishikesh

Eabeal

3) Rudraprayag

Eseiul

4) Devprayag

Savam

Correct Answer: Devprayag
Eeieeil

Candidate Answer: Rishikesh
Eap

QID : 71 - 'Nirvana Fund' was set up by NSDC for financial help to

Treadh gr1 ‘Fafor s S s o fert Tgraan we e g 6 T o
Options:

1) Entrepreneurs from the bottom rungs of society

W%Eﬁﬁ’r%«? & gerfedi

2) Displaced Kashmiri Pandits

et sl afeat

3) Old age people having no means of livelihood

st g o =8 sifde o & amem @i g

4) Ventures of selected candidates trained under PMKVY but did not get any job.
drgresdtand & ofnta Tafa ok ufifda seiear ot T8t e

Correct Answer: Ventures of selected candidates trained under PMKVY but did not get any job.
digmahdtand & sinta Tafaa ofw nfdféa snfear o o o =8 fAer

Candidate Answer: [ NOT ANSWERED |

QID : 72 - Nakul Swasthya Patra’ is a scheme by the Government for which among the following purposes?

Frafaf@e 7 2 g 3tza i ofif & oI WRa SRR g1 ‘Ao TR U’ gieH] O 6 TE 87

Options:
1) Wellness of animals
oy & TR &
2) Wellness of animal owners
o] AfereR! & T & 3T B
3) Taking care of lactating mother in the rural areas
&1 g e el Araned & wareea 6 e i
4) Taking care of newborn babies in the rural areas

aretoT 83 F Teremra fRwgei & e i T g
Correct Answer: Wellness of animals

TR & TR Y &EHT &g

Candidate Answer: Taking care of lactating mother in the rural areas

oreftor 83 7 a1t o1 g et aTeft AraTed & e & fEeE g

Page 24

QID : 73 - Which mine of India was in the news recently for becoming the country's first iron-ore mine to have a solar plant for reducing carbon footprint?

WRA & F-T W e Fefile &1 Hel 3 ol TR T o T & areft £21 R I Fiig- 0% @eH 81 o hRUT g & § afia E?

Options:
1) Talchar mine
TR W
2) Koraput mine
Ecrin
3) Noamundi mine
FremEt @er
4) Ratnagiri mine
LcEHALE
Correct Answer: Noamundi mine
et wer
Candidate Answer: [ NOT ANSWERED |

QID : 74 - Where will the Summer Olympics be held in 20287
HieHepTel 1 Hieifter T 2028 # wai smaifera faman smom?
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Options:
1) Sydney
faett

2) Paris

aRE

3l Los Angeles
GilEst

4) Copenhagen
TR

Correct Answer: Los Angeles
#irg dferen

Candidate Answer: | NOT ANSWERED |

QID : 75 - Which country has won the 2017 Davis Cup Tennis Tournament?
2ferg o g Tafde 2017 B g A s &2

Options:
1) Switzerland
wiewwie

2) Serbia
sfera

3) France
RIS

4) Belarus

Correct Answer: France
e

Candidate Answer: [ NOT ANSWERED |

QID : 76 - "You are Unique” is written by :
g IR g g fordt 7

Options:

1) Dr. A. P. J. Abdul Kalam
2 U . . e

2) Khushwant Singh
Trda f3ig

3) Taslima Nasrin

4) Arvind Adiga
R arfem

Correct Answer: Dr. A. P. J. Abdul Kalam
& u. bl 9. srege A

Candidate Answer: [ NOT ANSWERED |

Page 25

QID : 77 - The third Indian Council for Cultural Relations (ICCR) Distinguished Indologist Award for the year 2017 was awarded to Japanese professor "

a 2017 3 forg i wieta aiepfaes Sey ofteg (vEi9 o) ARe wwafte g s gt o1 T man

Options:
1) Hiroshi Marui
fRdiaft aed

2) Shimamaru Marui
HEY

3) Nagasaki Marui
ANTIETER] AEg

4) Toyota Marui
e 7

Correct Answer: Hiroshi Marui
st ag
Candidate Answer: [ NOT ANSWERED |

QID : 78 - Which of the following city has became first Indian city to get UNESCO's world heritage city tag?

Pt 3 & & o se o & vy R 2rew o 30 Ui S aTen MR o1 TYH QTET &9 T 87

Options:
1) Jaipur

SR

2) Ahmedabad

HEHETETS

3) Gandhi Nagar

ieft TR

4) Allahabad

ESIGICICS

Correct Answer: Ahmedabad
HEHETETS
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Candidate Answer: [ NOT ANSWERED |

QID : 79 - In June 2017, which of the following countries have signed a protocol of co-operation in the field of archive?

S 2017 A, Frefofea 4 & R g & siffretarmr & & F ggain & o e Hideia w gear g 82

Options:

1) India and Israel

R YT FIRIEH

2) India and Portugal
AIRA T g

3) India and Netherland
R T

4) India and Iran
TR T X

Correct Answer: India and Portugal
NRA T qTTeA

Candidate Answer: India and Netherland
YR 4T

QID : 80 - India has signed an agreement to provide USD 318 million as line of credit for developing railway sector of which of the following country?

Frefofee 3§ & g 2 &t vra 3 Wad 83 & e & g 318 Rfeas smRdr Staw & stz agw & ggmaar &= & e o gaghan fem g?
Options:

1) Bangladesh

e

2) Nepal

Euict

3) China

=

4) Sri Lanka

steteRt

Correct Answer: Sri Lanka
eient

Candidate Answer: [ NOT ANSWERED |

QID : 81 - Dot Matrix is a type of ;

gfe Afeag I Teh TR & |
Options:

1) Tape

&

2) Disk
o=

3) Printer
firx

4) Bus
=

Correct Answer: Printer
filex
Candidate Answer: [ NOT ANSWERED |

QID : 82 - The secondary storage devices can only store data but they cannot perform

Taeiraer Tugvr SueRl Fae BRT TURE &R Tad & Ui 98 g1 F= e §

Options:
1) Arithmetic operations
Seprforedia afvares

2) Logic operations
aifdher afeame=
3) Fetch operations

4) All options are correct.

Toft forerea Tt €

Correct Answer: All options are correct.
i foren Tt &)

Candidate Answer: All options are correct.
Tt fareea TEt &)

QID : 83 - In the modern periodic table metals, metalloids and non metals are found in which block?

TR et TROft H eng, Iueg, auT areg 3w sete § urd W §7
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Options:
1) s-Block
s-aich

2) p-block
praiieh

3) d-block
d=ifh

4) f-block

f-=lien

Correct Answer: p-block
p-&iieh

Candidate Answer: f-block
feiten

QID : 84 - Cinnabar is ore of which of the following?

Prefafem § & Remer Rras sras 22

Options:

1) Magnesium
?

2) Aluminium

3) Mercury
TR

ggl:on

Correct Answer: Mercury
T

Candidate Answer: Mercury
=T

QID : 85 - In which of the following mirror size of image formed is always equal to the size of objeci?

Fr=fofaa 3 € w9 g g & nfafirg &1 omer goen i & o & 99 g 8?

Options:

1) Convex mirror
I g

2) Concave mirror
SfEde

3) Plane mirror
HHE F9UT

4) Both convex and concave mirror
FE EUOT AT e gUoT &

Correct Answer: Plane mirror
THAE FUUT

Candidate Answer: Plane mirror
THaE FUuT

QID : 86 - Mass of a hydrogen atom is how many time the mass of an electron?

U BISE ST URATY] 31 ST U Salare i o el a1 eIt 1 gl 82
Options:
1) 1000

2) 8000
3) 1837

4) 5000
Correct Answer: 1837
Candidate Answer: 1000

QID : 87 - Which of the following are Fabrics that may contain polyester?
I. Polycot

1I. Polywool

Il Terrycot

Frefeiee 7 9 w9 9§ fugi § Oieiuees g 9o 57

1. uiferee

11. giferet
| R-cicars
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Options:

1) Only land Il
et | aun il

2) Only land Il
Sheret | il

3) Only lland Il
e 1l

4) Al 1 and 1
1, 10 e g
Correct Answer: All 1, [l and Il
1,0 g

Candidate Answer: | NOT ANSWERED |

QID : 88 - Which of the following term does NOT represent electrical power in circuit?

Frfofea & @ @ a ue Rrega ooy F Rem o #t Fefta =g swar

Options:
1) I°R

2) IR2
3) Vi

4) VIR
Correct Answer: [R?
Candidate Answer: V2/R

www.ErForum.Net
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QID : 89 - A positively charged particle projected towards west is deflected towards north by a magnetic field. What is the direction of magnetic field?

oigm Y o naifta =i eemefdra s feret Geeha s gy IR i ok EEifta g s &1 dadha 8 R B e g7

Options:
1) toward south
GENERECI

2) toward east

od &1 3k

3) downward

4) upward

Correct Answer: upward

Candidate Answer: [ NOT ANSWERED |

QID : 90 - Which of the following is NOT positively chargad?

FrafeiEas 3§ & yaeiRa agi g2
Options:

1) Alpha particle

SfTThT SHUT

2) Proton

Pirac

3) Helium nucleus

4) Electron

Correct Answer: Electron
EECraC]
Candidate Answer: Electron

R

QID : 91 - Which is a water soluble Vitarmin?

e T R e o aeeehe 22
Options:

1) Vitamin A

= A

2) Vitamin C

e

3) Vitamnin D

=i D

4) Vitamin K

e K

Correct Answer: Vitamin C
fefdm C
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Candidate Answer: Vitamin C

fefdm ¢

QiD:92-
Maich the items given in column (A) with those in
column (B).

Column - A Column-B
.  Frog 1. Skin
[l. Leaves 2. Stomata
[ll. Earthworm 3. Lungs and skin

=9 (F) ¥ T m usel 7 EH (W) & Ty
Brema Hfem)

o -F wHa-®
| Hg® 1. =
|I. oferar 2. T
I, S 3. s JUT ==

Options:

1) I3, -2, 1111
2) 11, 11-2, 111-3
3) I3, 1I-1, 111-2

4) 1-2, 1I-1, 111-3
Correct Answer: -3, 11-2, 11111
Candidate Answer: |-3, II-2, IlI-1

QID : 93 - How many number of chambers are there in human heart?

A gea d el it g e gkt 27

Correct Answer: Four
T

Candidate Answer: Three
=

QID : 94 - Which of the following is NOT present in a matured stomata?
e gaen 19 F Frefeiea 7 & e w euia gl g 82

Options:
1) Plasmodesma

2) Chloroplast
EEGEEED

3) Cell wall
TR

4) Vacuole

Correct Answer: Plasmodesma

Candidate Answer: Chloroplast
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QID : 95 - What is/are the cause(s) of arise hypermetropia?

& 5f® 2w &1/ T R g/E?

Options:
1) Excessive curvature of the eye lens.
& TeraT T A E

2) Elongation of the eye ball.

Eakses i
3) Focal length of the eye lens is too long.
I of Y e = & v gem
4) No option is correct.

i e @t 721 &

Correct Answer: Focal length of the eye lens is too long.
9= & it wiT g & il g

Candidate Answer: [ NOT ANSWERED ]

QID : 96 - Antibiotics are useful for which type of infections?

e weR & HET & R UaTaifies emeTas g &2

Options:
1) Only bacteria
et

2) Only virus
et

3) Both bacteria and virus
GERELIEE

4) Neither bacteria nor virus
= &t Sitemy 7 & ey

Correct Answer: Only bacteria
et

Candidate Answer: Only bacteria
et

QID : 97 - Which one of the following is NOT responsible for water shortage?

Frafef@e # & w1 Fr s $ 1 F g sewerd 7@ 87

Options:
1) Rapid growth of industries
fferiieor § gig

2) Increasing population
Eexifueten]
3) Forestation

4) Mismanagement of water resources
ST T Rl FHE
Correct Answer: Forestation

Candidate Answer: Forestation
Ao

QID : 98 - Which gas is major contributor to greenhouse effect?

e @ g glae moe § gad afdes a2

Options:

1) Carbon dioxide
HE TFHTFES

2) Chioroflurocarbon
FAR IO RIS

3) Sulphur dioxide
TR ET%

4) Nitrogen dioxide
BEEERCES

Correct Answer: Carbon dioxide
HEA Srg TGRS

Candidate Answer: Chioroflurocarbon
TR A R eRTel

QID : 99 - Which of the following is NOT a major problem in development of resources?

FrfefEa 3§ & o1 gunEl & Rem & geg amen 9¢@ 87
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Options:

1) Depletion of resources for satisfying the greed of few individuals.
@ fhal &1/3 ATeras SEIUH & |

2) Accumulation of resources in few hands.

7 efehdl 3 g1 § F91eEl o H9a|

3) An equitable distribution of resources.

T &1 AT H e dear|

4) Indiscriminate exploitation of resources.

G 21 HYTYY LiwoT|

Correct Answer: An equitable distribution of resources.
T &1 TATS A ~EEd dear|

Candidate Answer: | NOT ANSWERED |

QID : 100 - Which of the following is NOT man made ecosystem?

FrfefEs § 9 o a1 ame i oRERE & 58 &7
Options:

1) Orchards

FE

2) Home aquarium

T ABEER

3) Botanical gardens

Freufo-Jerm

4) Grassland

o1 &1 &

Correct Answer: Grassland

o1 1 B

Candidate Answer: Grassland
i ag-ric

Page 31

QID : 101 - Which of the following represent the crushing strength (MPa) for the good quality stone that are uged in the construction of buildings?

Frefeiaa 7 9 ot e g garal & Fmior & gua 3 S aTer st qore & gews &1 gufd g7

Options:
1) Less than 20
20 FwH

2) 20 to 60
20 ¥ 60

3) 60 to 80
60 ¥ 80

4) Greater than 100
100 % 1fds

Correct Answer: Greater than 100
100 & Hflem

Candidate Answer: Greater than 100
100 § arfdem

QID : 102 - Which of the following is examined to determine the age of timber?

frefefaEd 7 9 o o i ddt & 39 Fuifa e & o & sl 82
Options:
1) Annular ring

FEaATHR [T (Iger )
2) Sapwood

3) Pith
fer

4) Timber defects

gl & gfeat

Correct Answer: Annular ring
FeaaR R (erger )
Candidate Answer: Aninular ring
T R (srger R

QID : 103 - Which of the foliowing is determined with the help of Le Chatelier's device?

Frafeiee A § G Faifzor & 92fe/R (Le Chatelier) 3 Sugssor & wraimT & frar st &7

www.ErForum.Net

www.ErForum.Net



www.ErForum.Net

Options:

1) Abrasion resistance
uferiy

2) Chemical resistance

uferty

3) Soundness

aadl

4) Strength

Tt

Correct Answer: Soundness
aedl

Candidate Answer: Soundness
Sedl

QID : 104 - The type of mortar which is used for the construction works carried out in water-logged area is 1

rerre At & fFmfor aaf & e suain & o areft e @ v §

Options:

1) cement mortar

e AR

2) loose mortar

et AR

3) mortar of very low consistency
g d HH FRORAT &

4) mortar having high w/c ratio
F=T W/C HUTe &I

Correct Answer: cement mortar
iz el

Candidate Answer: mortar having high w/c ratio
IS wi/c T T AR
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QID : 105 - For M 25 grade concrete, the split tensile strength in terms of percentage of its compressive strength is i

M 25 e e & forg, st nfdera ddten arred & wwedf A RS aa afs ___ @)

Options:
1) 7to 11%
7E11%

2) 18 to 28%
18 ¥ 28%

3) 28 to 38%
28 ¥ 38%

4) 38 t0 48%

38 ¥ 48%

Correct Answer: 7 to 11%
7811%

Candidate Answer: 28 to 38%
28 §38%

QID : 106 - Distempers are generally used to coat ;

IMAR R BER H & #u & forg i v s g

Options:

1) compound wall

FATS ATl

2) external concrete surfaces

argd i TeTg

3) interior surface which are not exposed to environment
T St vt F gud d A8 g &

4) wood works

el & Hrd

Correct Answer: interior surface which are not exposed to environment
rafees Tae o UafeRy FHuE S T B

Candidate Answer: interior surface which are not exposed to environment
e g S gaiR e FETEH TE et &

QID : 107 - Which of the following is commonly used as retarder in cement?

frefefaa § 2 o dide & Reraew & w0 § sedame far s 87

www.ErForum.Net

www.ErForum.Net



www.ErForum.Net

Options:
1) Calcium sulphate
Hfegan Tethe

2) Gypsum
it
3) Potassium carbide

g
4) Sodium chloride
Tifgs Fge

Correct Answer: Gypsum
i)

Candidate Answer: Gypsum
o

Page 33

QID : 108 - In the process of hydration of OPC, to complete all chemical reaction, the water requirement (expressed as the percentage of cement) is

S (OPC) i serdiom (ErEge) niehar d, Tt Iemafes nfaftkared & qui s & e (Ife & ofasa & =0 ) ot 6 anasaear g)

Options:

1) 5to 8%

538%

2) 8to 16%

8&16%

3) 20 to 25%

20 ¥ 25%

4) 35 to 45%

35 ¥ 45%

Correct Answer: 20 to 25%
20 ¥ 25%

Candidate Answer: 35 to 45%
35T 45%

QID : 109 - The slump test is performed to check the i

FreraTa uRemT (W 3w) &1 wig & fog Erar s g
Options:

1) presence of water in cement

iz & gt 6 gufeEfy

2) ratio of concrete ingredients

Fehiz A & T

3) temperature resistance

an wfeRy

4) workability of concrete

dhehie i SgeTddr (adhfaferd)

Correct Answer: workability of concrete
Sehle i sagdal (ahfaferd

Candidate Answer: workability of concrete

e 4 arERiaT ()

QID : 110 - The reason behind the low expansion and shrinkage of the plywood is .

ETEgE & i 3R ok Riges &1 wror 2|
Options:
1) plies are placed at the right angles with each cther
T g & THRIT R & o §
2) they are glued under the high pressurs
AT AT FATAILGUEA &
3) they are held in the position with the help of adhesives
3 fRraery aret vt i mee § 3w R st &
4) they are prepared with the help of veneers
A TEER el ¥ daR R o §

Correct Answer: plies are placed at the right angles with each other
TEATE Uk g8 & THeRIUT U Tl Sl §

Candidate Answer: plies are placed at the right angles with each other
TS U g% & GHE 07 07 W St

QID : 111 - Which one of the following method is used for the approximate estimation?

Frfafea & & F < agfa srpfe g & g s &1 St &7
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Options:

1) Both central line and short wall and long wall method
Y 3k @Y dER SR ol R

2) Central line method

e ugfa

3) Plinth area method

o & ugha

4) Short wall and long wall method

g AR AR st Sar ugh

Correct Answer: Plinth area method

& 8 g

Candidate Answer: Plinth area method

& 8 Ul

Page 34

QID : 112 - Accuracy in the measurement of the thickness of the slab or sectional dimension of column and beam (in centimetre) should be :

e i AT ar wy ofk i & o s (Frfer §) Sramd odiwma _ gFtaiiRu

Options:
1) 0.5

2)1
3)5

4) 10
Correct Answer: 0.5
Candidate Answer: 0.5

QID : 113 - Deduction at Tjunction of the wall for total length of the central line is .

e Y 1 et ward & forg e F g wm wdd 2

Options:
1) half of thickness of wall
SR Y At & ameft

2) no deduction
Emini|

3) thickness of wall

&R 1 A

4) twice of the thickness of wall
HeTE & g

Correct Answer: half of thickness of wall

ar F Aier Hr ameft

Candidate Answer: thickness of wall
&ar & A

QID : 114 - For estimation of painted area of semi corrugated asbestos cement sheets, percentage increase in area above plain area is y

aref ATeflER tEEm S e SN gu e & oAF & T, guan e end e A nfaeE Al §)

Options:
1) 0.1

2) 0.14
3)02

4) 0.25
Correct Answer: 0.1
Candidate Answer: 0.25

QID : 115 - Scrap value of a property may be .

el Suf = arafie geu S |
Options:

1) both negative or positive

SHUTEHS AT EHTeH S &1

2! constant

3) negative

FHOTcHS

4) positive

YATHH

Correct Answer: both negative or positive
SHUTEHER a1 SFTHER g1

Candidate Answer: both negative or positive
SHUTEHS AT EATeHE Sl
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QID : 116 - What is the unit of measuring cornice?

FRA T AT Y T o 22

Options:
1) Cubic metre
o Hie?

2) Number

T
3) Running metre
i Hex

4) Square metre

Correct Answer: Running metre

AR

Candidate Answer: Running metre
I e

QID : 117 - Calculate the number of bricks in 20 cubic metres brick works.

20 w1 Hiex g2 @l # €2 i e o i)

Options:
1) 500

2) 1000
3) 10000

4) 100000
Correct Answer: 10000
Candidate Answer: 10000

QID : 118 - Calculate the area (square metre) of the formwork required for a beam of 2 m span and cross section dimension of 400 mm x 200 mm.

400 fAreite x 200 PAeirier sruey ae 6 BT ok 2 e @ & §m & g srasas 9iE & aame (@ He) 6t o HiEd)|

Options:

1) 0.8

2)0.16

3)1.2

4) 2

Correct Answer: 2
Candidate Answer: 0.16

QID : 119 - The cross section areas of three sections of an embankment at an interval of 40 m are 10 square metres, 15 square metres and 35 square metres.
Calculate the guantity of earthwork for the embankment. Use prismoidal method.

40 Hie & RIS R Uk aeael 3 off= fRee oy sy =12 o1 &iemeet 10 a9 #1215 a9 Hiex ok 35 i Hier 8| aedy & forg guaim &t meft f) & mrorn fiferd| fremsia Rfa
U |

Options:
1) 1200

2) 1400
3) 1500

4) 2400
Correct Answer: 1400
Candidate Answer: 1200

QID : 120 - Calculate the annual depreciation (Rs.) of a machine having initial cost of Rs. 10,000. The scrap value is Rs. 1,000 and useful life of 30 years.

U A= & anfties qeagr (%) 31 1o dhifcr! (SRt oRfTes @nTa % 10,000, @9 g7 % 1,000 #R I &3 &1 97g 30 916 8

Options:
1) 300

2) 367
3) 1333

4) 333333
Correct Answer: 300
Candidate Answer: 300

QID : 121 - What is the difference between the sum of interior angles of plane triangle and spherical triangle for area of triangle 195 square kilometre on the Earth's
surface?

Tt &t Tae W Brget & 195 o Redndier & & fog et Braton & 4 ofik mierer Bierior & e & wivfl & #ea o 7 &7
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Options:

1) one degree
o &l

2) one minute
U e

3) one second
U 958

4) one radian
o T

Correct Answer: one second
0 &
Candidate Answer: [ NOT ANSWERED |

QID : 122 - Which one of the following is the largest scale?

fFrefefEa § 9 oF o ged gg g 87
Options:

1) 1:500

2) 1:1000

3) 1:2500

4) 1:50000
Correct Answer: 1:500
Candidate Answer: 1:500

QID : 123 - The quadrantal bearing of the line lies in the third quadrant making angle in clockwise with the north is B

s W S AR agufer # & ofk 3T siat & a1y efdioned 1o @ S § O 99 v deged A
Options:

1)

N(s8-180)°E
2) _
N{&-180 )=
3

S(6-180)°E

4)

S(6-180)°W
Correct Answer:
S(6-180)"W
Candidate Answer:
S(6- 180}°W

QID : 124 - Calculate the volume of the embankment (in cubic metre} using trapezoidal method, if the cross section areas of the three sections of an embankment at
an interval of 30 m are 20 square metres, 40 square metres and 50 square metres.

Y & AT Y Mo (8 Hier #) grerETeR B @ SIS, g 30 Hie e W aesy & O R Y e sh1e o st 20 &1 Hier, 40 &9 Aiew ok 50 w1 Her 3

Options:
1) 1100

2) 1150
3) 2250

4) 2350
Correct Answer: 2250
Candidate Answer: 1150

QID : 125 - Which one is the CORRECT order of the tapes based on their accuracy?

20 &Y 9éar & IR UT i 91 "gl 27

Options:

1) Linen tape = invar tape > metallic tape > steel tape
¥ > R ¥ > e 21 - & 30

2) Invar tape > steel tape > metallic tape > linen tape

FER 20 > T ¥ > Ui 20 > fFrm Em

3) Metallic tape > steel tape > linen tape > invar tape

uTg 30 > i 2 > foF 20 > R i

4) Metallic tape > steel tape > Invar tape > linen tape

UTg 20 > e &0 > FAR U > oR= ¢

Correct Answer: Invar tape > steel tape > metallic tape > linen tape
TR U > ¥id ¢ > uig 20 > fore &g
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Candidate Answer: Metallic tape > steel tape > linen tape > invar tape
g 24 > ¥id &0 > o 20 > e i

Page 37

QID : 126 - In the leveling between two points A and B on the opposite sides of a pond, the level is first set up near the point A and staff reading on Aand B are 25 m
and 2.0 m respectively. Then the level is moved and set near the point B, staff reading on points Aand B are 1.2 m and 1.7 m respectively. Calculate the difference of

heights between the two points A and B (in metre).

arerTE 6 e gaei u e & frgar A ofR B & & woae e 61 uichan A, TR 1 uge fog A & o wifie A ok fig A ok B W o AfE s 2.5 Hiew oik 2.0 Hiez sl
] ora TR 1 fiig B & UTH & STeRe it e TR T fEn shmen: 1.2 Hiew ok 1.7 Hier ol 8| g A ofi B & i Fang o ofaw ot o (Hiee #) 34|

Options:
10

2)0.5
31

4) 1.85
Correct Answer: 0
Candidate Answer: 0.5

QID : 127 - Calculate the combined correction for curvature and refraction (in m) for a distance of 2 km.

2 fEreiier g3t & forg asran ofR arved= (e H) & o Tgeh Far & o Sifed|

Options:
1) 0.045

2) 0.135
3) 0.269

4)3.14
Correct Answer: 0.269
Candidate Answer: 0.269

QID : 128 - In transit theoddlite, the line of the sight can be reversed by revolving the telescope through |

T fareeTEe & & AreAT @ ofE &t Y o ferenty ufermor grT e e o gewar o

Options:

1) 90° in horizontal plane
90° dfast aer H

2) 90° in vertical plane
90° FHefeR o |

3) 180° in horizontal plane
180° &feret a1 &

4) 180° in vertical plane
180° Feafer aa §

Correct Answer: 180° in vertical plane
180° Feafer aa A

Candidate Answer: 180° in vertical plane
180° Feafer aa #

QID : 129 - Which one is the CORRECT sequence for the temporary adjustment of the theodolite?

fraiEese & orund aATdTe & T i A wEl # g

Options:

1) Centering, elimination of parallax, leveling, and setiing

ST ST, ST ST I, FHE S, I T

2) Centering, setting, elimination of parallax and leveling

g ST, GfEN, e o1 I, 3R FHae ST

3) Setting, centering, leveling and elimination of parallax
BfE, Hied S, FHAE T, AR G o T

4) Setting, leveling, elimination of parallax and centering

Bftr, gl Fe, FE 1 e, S S d e

Correct Answer: Setting, centering, leveling and elimination of parallax
Bfe, Hfga o, Feae B30, AR FE H IHEA

Candidate Answer: Centering, elimination of parallax, leveling, and setting
T AL, T 1 S, A S, iR Fie

QID : 130 - Which of the following is used for determining the location of station occupied by the plane table?

FrfefeEs & @ o aderr g & @ g & e & Fraffva o & o suaim frar s &2
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Options:
1) Both intersection and radiation
iR fafemoT

2) Intersection method
3) Radiation method
faferzor goTreft

4) Two point problem
Targ T (g uige wiser)
Correct Answer: Two point problem
2} faig, @ (g utde vieem)
Candidate Answer: Two point problem
3t fiig e (g oée sifeers)

QID : 131 - Which of the following is responsible for the formation of residual soil?

Frfofea 7 & = ar safire g & e & g ter &7

Options:
1) Glaciers

2) Water
STl

3) wind

Bar

4) None of these

TR & 1S TG

Correct Answer: None of these

T Y HE AE

Candidate Answer: Water
Sel

QID : 132 - The coefficient of gradation and the coefficient of uniformity of a given soil sample is 1.0 and 4.0 respectively. The ratio of effective size to the diameter
through which 30% of the total mass is passedis .

& et Bt & U A & I (FE) T[0T 3R UeEuaT TUTic shmsr: 1.0 3R 4.0 &) e md st & ay o, fads arens & gernm & 30% i R man gt
#

Options:
1) 1.25

4 2
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED |

QID : 133 - Which of the following shows the CORRECT order of increasing surface areas of the given soil?

Frofefem & @ o wrd & g gag Sevhd & Tt o+ & e 22

Options:

1) Clay < silt < sand < colloids

et gt < 7Tmg < 3@ < FiciEs

2) Gravel < silt < colloids < clay

HHE < TG < FHIAGFS <

3) Sand < silt < clay < colloids

W <TG < g g1 < Frege

4) Silt < gravel < colloids < clay

G < S < FIEAEE < Frerelt FBEY

Correct Answer: Sand < silt < clay < colloids
W < T < e i < FiEs

Candidate Answer: Sand < siit < clay < colloids
¥ < 7% < R i) < aeiiee

QID : 134 - What is the assumption made about back of wall, in the Rankine's theory of earth pressure?

gl g & e (Rankine) & Rgia # €aR &t =5 & a1 A a1 ¥Rom 87
Options:

1) Plane and rough

T R TRE

2) Plane and smooth

T S fom

3) Vertical and rough

Frafer o TR

4) Vertical and smooth

Frater ot R
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Correct Answer: Vertical and smooth
FrafeR ot e

Candidate Answer: Vertical and smooth
Fraier o R

QID : 135 - Which of the following is CORRECT about the viscosity of gas?

Frafef@a & & & g 6 ware & R 7w 87

Options:
1) Inversely proportional to the temperature
T & EdE

2) Increases with an increase in the temperature
A g & Sy Fg A

3) Independent of pressure

gE1d & e

4) Independent of temperature

AT o sl

Correct Answer: Increases with an increase in the temperature
TOAFTH gig & WY 9 RN §

Candidate Answer: Inversely proportional to the temperature
T & Rodta s

QID : 136 - Pressure of 200 kPa is equivalent to the head of z metre of liquid having relative density 1.59. The vaiue of z (m) is 2

200 kPa 1 gaTe 1.59 TTdat v1e o ave eref & z Hiex T F R 8|z (i) o ___ g
Options:

1) 11.6

2) 11.82

3)12.82

4)13.14
Correct Answer: 12.82
Candidate Answer: [ NOT ANSWERED |

QID : 137 - Which one of the following statement is CORRECT about the center of buoyancy?

el & & & 91wy 3o 3 & an # 'gt 87

Options:
1) It is the point where buoyant force act.
Tg 98 WM § T 1 Iea gl H1d Ha g

2) It coincides with the centroid of volume of water displaced

Tg frenfia it i A & g & O A @ |

3) Itisthe point where buoyant force act. and It coincides with the centroid of volume of water displaced
TE 98 W § SIgT Ieeere ol 1 o & ofR gy faenfie arft & oen & dhg & vy A oft @ &

4) It acts outside the body.

T e & a1er M e 8

Correct Answer: It is the point where buoyant force act. and It coincides with the centroid of volume of water displaced
TE g T § ST Ieene It hrd ahea @ ofk g Rrenfia ot 6 e & g S dm i@ g

Candidate Answer: It is the point where buoyant force act. and it coincides with the centroid of volume of water displaced
Tg 98 WM § el Ietella gl 1 sheal & R g nfia ot < 7 & &g & oy de it @ §

QID : 138 - A longitudinal rectangular surface ic hanged into the water such that its top and bottom points are at depth of 1.5 m and 6.0 m respectively. The depth of
center of pressure (m) from the top surface is .

U el ATATHR T8 Y U 7 g3 TR wRe s @ B 509 R ofik i & fiig smar: 1.5 R ok 6.0 wier i e R w1 Il wag @ qww & frmewd ()
2

Options:
1) 3.8
2)42
3) 4.6

4) 4.8
Correct Answer: 4.2
Candidate Answer: [ NOT ANSWERED |

QID : 139 - The velocity potential which follow the equation of continuity is .

oo & gHieReT AT UTEE o aTel AT R & B
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Options:
1)

Xy
2)
-yt

=yt

Correct Answer:

<y

Candidate Answer: [ NOT ANSWERED |

QID : 140 - At what distance from the boundary layer, the value of the wall shear is three times of the turbulent shear?

e u=a & e ot W, draR & Sruzeqor &1 AT fgfeer SroReToT T o i+ 7T 87

Options:
1) 1/3R
2) 1/2R
3)2/3R
4)3/4R

Correct Answer: 2/3 R
Candidate Answer: 2/3 R

QID : 141 - Which of the following statement is CORRECT about the stream lines and equipotential lines?

Frfaf@ra & & &5 a1 Fue ary st ofk gafave Yaned & ard ad@t 82

Options:

1) Both can be drawn graphically for viscous flow around any boundary.
TRt oft i & sreaTe 24 vaTe & forg Wi fRaT o e &

2) Meshes formed by them are always squares.

IS g TS AT g B E

3) They always meet orthogonally.

& gHan = Hea

4) They can be calculated for all boundary conditions.

et o Teft Fmr-ganedt & < s gt g

Correct Answer: They always meet orthogonally.
& gHan erEad Bed §

Candidate Answer: Both can be drawn graphically for viscous flow around any boundary.
g1 ot et oft i & omauTy {9 waTe & fe Y i o e

QID: 142 -
The Rankine half oval body MM is subjected to
the two-dimensional flow having velocity V. The
typical stream line is shown in the following diagram.

The point A in diagram shows

{5154 (Rankine) HUT FHSWE I57 MM, V 991 &
T a1 IET wars & arha ¥ T

YN @ Ar=atreg e # das =@ G

G # g A il
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Options:
1) point at which velocity is maximum
a1 Srfderar §

2) separation point
TR fiig

3) stagnation point
R

4) stall point
T fig
Correct Answer: stagnation point

e faig

Candidate Answer: point at which velocity is maximum

i, STaf A arftreram &

QID : 143 - Which of the following is CORRECT ratio for Froude number?

i@ & & w1 o e Fa & for wdt o 22

Options:

1) Compressive force to inertia force.
TefteT = o Sige 5

2) Inertia force to gravity force.

ST T I TR 9 §

3) Inertia force to tension force.
g &l I a-Td T T

4) Viscous force to inertia force.
T Il Sl STed g1 §

Correct Answer: Inertia force to gravity force.
TS T I [SAThuYT g6 &

Candidate Answer: Inertia force to gravity force.
TS T I TR I F

QID : 144 - For the most economical triangular channel section, the angle of sloping sides from the vertical is .

T A Rerivfa d9a oqym & o, Fafr e geligr o &
Options:

1)

5

2)

45°

3
B0°

4)

15°

Correct Answer:
45°

Candidate Answer:
60"

QID : 145 - Method of applying water directly to the root zone of the plant is called i

Ga Fagdmddd ot A Frogh__ awani g

Options:
1) check flooding
ek TAreT

2) drip method

goo fafy

3) furrow method

e fafy

4) sprinkler irrigation

e g

Correct Answer: drip method

oo fafy

Candidate Answer: furrow method
& fafy

QID : 146 - A field of 500 hectares is to be irrigated for a particular crop having 100 days base period. The total depth of water required by the crop is 100 cm.
Calculate the duty of the water (in hectares per cubic metre).

100 o & amer srafdy aret foret femtw wheret & forg 500 e & & [ifea o s &1 et & forg et ureit <t mreerd 100 Séfter &) et &t areidl (=) i momn et (BeRar
ofy o e #)|
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Options:
1) 8.64
2) 57.87
3) 86.4
4) 864

Correct Answer: 864
Candidate Answer: 57.87

QID : 147 - The traffic volume of a roadway is defined as the multiplication of "

U &% & T I AT S 10T & w9 H ufei fmar ma g

Options:
1) speed and time headway
T SR T iy

2) speed and distance way
T SR & o

3) traffic density and speed
AT 9 SR T

4) time head way and distance headway
Ty i i AR gt &I

Correct Answer: traffic density and speed
AT g SR i

Candidate Answer: traffic density and speed
TraTaTa geed e i

QID : 148 - Calculate the equivalent radius (cm) of the resisting section of 20 cm slab, if the ratio of radius of wheel load distribution to the thickness of the slabis 2.

o ufgd & wr e (s Refiege) 6t Bear of wa 61 dier o1 oo 2 § at 20 St @i & aaviy @S o waaed B (§8e) 6 wom )

Options:

1) 20

2) 35.6

3) 40

4) 409

Correct Answer: 40

Candidate Answer: [ NOT ANSWERED |

QID : 149 - On peak hourly demand, what is the maximum daily consumption for the city which have average daily consumption of 100,000 m3?

e EY 61 id & @ua 100,000 941 Hiex 8, uia der #in & fRrar uw sifteman & @ua @ 87
Options:

1) 140000

2) 170000

3) 200000

4) 270000
Correct Answer: 270000
Candidate Answer: [ NOT ANSWERED |

QID : 150 - For which of the following, distribution mains is designed?

Frerfeiea 3 9 frad fore Rraror are= far e man 52

Options:

1) Average daily demand
e & =i

2) Annual peak demand
aIfier fRrER mim

3) Monthly peak demand
w1fes fReR A

4) Maximum hourly demiand on maximum day

1 o= arfirere ofy et =i

Correct Answer: Maximum hourly demand on maximum day
Siftrgre = uR srfiiEar i dey /i

Candidate Answer: Average daily demand
T

QID : 151 - Which of the following statements is true?

A. Most of the loads applied to a building are environmental load.
B. Most of the loads are dead followed by live loads.

Frfef@ra & & &5 91 Fu ae 87

A, TARA TR HRITG 8 arer sifdeisr s vafwmo s« gid &
B. nfafaret &= & =g ofdeRiy o aee e 81 9 &
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Options:
1) Only A
el A
2) Only B
Fa B

3) Both Aand B
A 3R B gt

4) Neither A nor B
AgTARATEB

Correct Answer: Only B
el B

Candidate Answer: Both A and B
A 3iR B gHI

QID : 152 - How does an increase in the pitch of the roof affects the amount of load that can be placed on it?

Bd & aR H g 550 TR & 39 YR & AT & T Sl & G 39 U @1 o Tkl 87

Options:

1) It increases

g g giel &

2) It decreases

g o B S §

3) Remains constant
g s &

4) Depends upon case
R wm PR Fa g

Correct Answer: It decreases
Tg FH §l e §

Candidate Answer: Depends upon case
R w R g

QID : 153 - What will be the rain load (in psf) if dg is 2 inches and dj, is 1 inches?

WRd. 2§ 3R dy, 1 59 & drawf wR (psf #) framn grm?

Options:
1) 5.2

2)10.4
3)15.6

4) 20.8
Correct Answer: 15.6
Candidate Answer: [ NOT ANSWERED |

QID : 154 - Concrete is=-

&R &

Options:

1) Good in compression, good in tension
grftga & st ag H st

2) Good in compression, weak in tension
grftga 7 sres, T # g

3) Weak in compression, weak in tension
grftea A gdfe, g A

4) Weak in compression, good in terision
grftgs A gife, g  ora

Correct Answer: Good in compression, weak in tension

TrftEa A 3T, 3 H gda

Candidate Answer: Good in compression, weak in tension

Frftea # oresT, a7 A gaa
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QID : 155 - If in planar system, X parts/members are there with Y no. of forces, then condition for statically determinacy is-

U GATeta e 8, 3 arr/eEas @ w9 § a9 amifte 8, 9t @it wu § fEefind & o o &-

Options:

1) ¥ <3X

¥ <3X

2)Y=3X

Y >3X

3) ¥=3X

¥=3X

4) None of these
£l

Correct Answer: Y= 3X
¥=3X
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Candidate Answer: [ NOT ANSWERED |

QID : 156 - If a system has more equations of equilibrium than no. of forces, then the system is:-

R Frepra & st Y g Y g & grereren & srfires geiteRor € & P &-

Options:

1) Improperly constrained
FfRa Fud

2) Partially constrained

HifdrF =0 3 Peg
3) Stable
Tl

4) None of these

18 A Y g

Correct Answer: Partially constrained
Hifdr =0 & Peg

Candidate Answer: [ NOT ANSWERED |

QID : 157 - Which of the following material is not used in making trusses?

29 99 # Frefeiea § @ g gt & guain g s 82
Options:

1) Wooden struts

aohdl FEd

2) Metal bars

o 1 B

3) Channel

o

4) Concrete

Correct Answer: Concrete

Candidate Answer: Channel
A

QID : 158 - In a truss it is assumed that the members are joined by

o9 # g8 WA A & S woma A g Us g A e e 8-

Options:
1) Rough pins
TR =

2) Smooth pins
et o

3) Either rough or smooth pins
Tl gt a1 R e
4) None of these

T Y FE AR

Correct Answer: Smooth pins
et formr

Candidate Answer: Smooth pins
et o

QID : 159 - What is the major difference between truss and beam?

o9 ofRR &7 7 7 sieR R E?

Options:

1) Beam can't transmit load in vertical direction while truss can
df Faaa B F wr paRa 98 @7 geal & Saft cg e g1 g

2) Truss can't transmit load in vertical direction while beam can
o9 oEad & § 9R UeEia T8 e So & St 41 R gehdl g

3) Beamn can't transmit load in axial direction while truss can

d arefia fsm & R W T8 AR Gl § Sk Za R ghdr g

4) Truss can't transmit load in axial direction while beam can
g yeftg fesn & W vEiRa S #R o & Safh 0 R gEdl 8

Correct Answer: Truss can't transmit load in vertical direction while beam can
o9 e a0 7 SR TR g o TRl & STt 1 9N hdl 8

Candidate Answer: Bearm can't transmit load in axial direction while truss can
d arefra e § vR venRa 78 o g & safd ;o aear g
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QID : 160 - Given that J is no. of joints. B and R are no. of members and no. of reactions.
IfB=4,R=3andJ =4, then the truss is:-
fra e & 26 J oYt & e &1 B iR R srraat of ufafranadt 6 g &)

WFRB=4,R=33RJ =48 drca&-

Options:

1) Statically determinate

wifoe wu ¥ oRfaa

2) Statically indeterminate and stable
e w0 T sfifEa i zurdt

3) Stable

e

4) Unstable
et
Correct Answer: Unstable

Candidate Answer: Statically indeterminate and stable
wiftes w0 T araRffg i wrdt

QID : 161 - Which IS code gives details regarding water to be used in concrete?

SRz A/ IUEm fEy S aet urt & S A S 1S S RreRor uerE e &7

Options:
1) IS 456

2) IS 383
3) 1S 565

4) 1S 3012
Correct Answer: IS 456
Candidate Answer: IS 456

QID : 162 - Which of the below is an example of plasticizer?

FrfefEa § & o wfREEeR o1 U JSEv a?

Options:

1) Hydroxylated carboxylic acid
B ISiTeRTeIrS ST aHTeITere arve
2) Fluoro-silicate

3) Gypsum
o
4) Surkhi

Correct Answer: Hydroxylated carboxylic acid
B ISTERICe S FElHiTHIeIe 3Fe

Candidate Answer: Hydroxylated carboxylic acid
BrEgtaiifayee FETHTed eI ot

QID : 163 - How many methods of batching of concrete are there?

Fchie Fi & Fw Fi et it &2

Options:
1) 2

2)3
3)5

46
Correct Answer: 2
Candidate Answer: 6

QID : 164 - Concrete is generally placed on a:

dhehle HIE R UR fohe O <@ S a:
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Options:
1) Form work
T s

2) Stand
s

3) Mould

i
4) Platform
EHH

Correct Answer: Form work

e wrd

Candidate Answer: Form work
i arf

QID : 165 - The effective width of a column strip of a flat slab is taken as
Rl Td H i BuHrpud dfegsr ot g

Options:

1) one-fourth the width of the panel
Bt 1 <tgTE o o

2) half the width of the panel
B7et o =TT o o

3) half the diameter of the column

ShicTH o SOTE ol HTEN
4! the diameter of the column
& =

Correct Answer: half the width of the panel
BTt 1 ST o S

Candidate Answer: half the width of the panel
B <R drETd T e

QID : 166 - Permanent dimension changes due to loading of concrete is termed as:

dhle BTeF & SR ATar & g aren wrdt ufiad sgear &

Options:
1) Strain

2) Extent

ORETOT

3) Creep

Fererdor

4) Ambit

oRfy

Correct Answer: Creep
Frrdor

Candidate Answer: Creep
ferertfor

QID : 167 - In design of R.C.C. structures, the tensile strength of concrete is taken as:

.., Ieelt & fEsiren &, didhie & g e o ok a0 F o e &:
Options:

1) 5N/mm?

2) 2N/mm?

3) 0.3N/mm?

4) None of these

TTH Y HE TG
Correct Answer: None of these
FTH & 1 T

Candidate Answer: None of these
A F g g

QID : 168 - Flexure strength of concrete is determined as:

wehIe & dere a1 o T 4 freffia o o g
Options:

1) Modqlus of rigidity

G T0TTeR

2) Modulus of rupture
o i

3) Modulus of plasticity
AT Ul

4) Modulus of elasticity
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Correct Answer: Modulus of rupture
! :

Candidate Answer: Modulus of rupture
d :

QID : 169 - Properties of concrete can broadly be divided into:

SehYe 3 ST uTich T & Ree g 8 87

Options:
171

2)4
32

4 3
Correct Answer: 2
Candidate Answer: 3

QID : 170 - Which IS code gives specifications about cement plaster?

I G11S s 4 & Wi Fan | RfRda dar g

Options:
1) 1S 1500

2) 151221
3) 1S 1400

4) 1S 1661
Correct Answer: |S 1661
Candidate Answer: [ NOT ANSWERED |

QID : 171 - In a lime-cement plaster, ratio 1:1:6 corresponds to:

- & W #, 1:1:6 U fads agu g g:

Options:

1) Lime:cement:sand

T Hie: 9T,

2) Cement:Lime:sand

e o @1,

3) Lime:sand:gravel

TFAT: T, T

4) Cement:sand:gravel

Hife: o, Tw

Correct Answer: Cement Lime:sand
iz g 91,

Candidate Answer: Cement:Lime:sand
e T 91,

QID : 172 - On which of the following does the correct proportich of ingredients of concrete depend upon?

Frafeie A § &g o dehie & anelt o 98t sruna Fe9R aRar g7

Options:
1) bulking of sand
] T el
2) water content
Cakc il
3) absorption and workability
SELTUT 3R Fehrefan

4) All option are correct
e

Correct Answer: All option are correct

ot Rrerey w1 &

Candidate Answer: All cption are correct
oo ferea w1 €
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QID:173-

If X,Y and Z are fineness moduli

of coarse fine and combined
aggregates, the percentage

(P) of fine aggregates to combined
aggregates is

IR AT, HElA AN HAAT dot H

e AOTE X, YA Z €, o A 9o 3R
AT 9o &1 gioerd (P) &

Z—X

1P = Z£ x 100
L=y
X—Z
1P = £ x 100
z-Y
X—7Z
3P = 22 x100
Z+Y
X+Z
4P = 22 ¥ 100
Z-Y
Options:
1) [1] Only
e [1]
2) [2] Only
e [2]
3) [3] Only
e [3)
4) [4] only
et [4]
Correct Answer: [2] Only
e [2)
Candidate Answer: [2] Only
e [2)

QID : 174 - Which of the following statements is false?

Frefaf@a & 3 o o sy e 87

Options:

1) Workability of the concrete mix decreases with an increase in the moisture content
=t 1 7 F g g9 & Ay Sehie & Aaor & gt w9 8 Al 8

2) Concrete for which preliminary tests are conducted, is called controlled concrete
hle fere orufAe adteror ffrg sd & Fdfa sifie sl 2

3) Bulking of sand depends upon the fineness of grains

1], 3T T 0T T gEAaT W) iR s §

4) All option are correct

oot ReveT =gt &

Correct Answer: All option are correct
ofi Rreu Tl &

Candidate Answer: Workability of the concrete mix decreases with an increase in the moisture content
et 1 A 7 gfg 8 & we shehie & fAsor S gerda A g Al §

QID : 175 - Which of the following statements is false?

et 8 8 o o sua naa 27

Options:

1)PS|:|ace between the exterior walls of a warehouse and bag piles should be 30 cm

SRR & aTed aRi o 7 & &S e o e 30 F gFT ARy

2) Cement bags should preferably be piled on wooden planks

iz & el Y AR TR SREl & Ul U T S ey

3) Cement bags should be placed such that bags of one layer does not touch the bags of the adjacent layer
iz & el 1 59 ISR T S ARy % O s wa Oel Y oreE R E T8y

4) None of these

T Y HE TE

Correct Answer: None of these

Y FE A
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Candidate Answer: Cement bags should be placed such that bags of one layer does not touch the bags of the adjacent layer
e & el 1 59 IR T@ S Aiey & O & ve e deli 6 ored wRd & T8y

QID : 176 - Which of the following statements is false?

Prefafem § & S a sy Taa 2?

Options:

1) With passage of time, the strength of cement increases
Ta & 91, HiHe & T A gig gl &

2) With passage of time, the strength of cement decreases
g & 91y, HiHe & g gean §

3) After a period of 24 months, the strength of cement reduces to 50%

24 g i rafd & a5, He & g # 50% ot FH1 g1 A &

4) The concrete made with storage deteriorated cement gains strength with time
SR 1 1S arg WHT G 4TS TS Shehie TH & 91y A U el

Correct Answer: With passage of time, the strength of cement increases
T & oy, iz & arred A qfg et &

Candidate Answer: The concrete made with storage deteriorated cement gains strength with time
R &1 7T &g T g1 ST T ahehie TR o g1y gre e awelt &

QID : 177 - For a concrete mix 1:3:6 and water cement ratio 0.6 both by weight, what is the quantity of water required per bag?

wehie e 1,3:6 ok otet Wiz o 0.6 EHT YR g1 & g, ufdy den s@ i as e &7

Options:
1) 10 kg
10 frelt
2) 12 kg
12 frelt
3) 14 kg
14 fEalt
4) None of these
g

Correct Answer: 14 kg
14 far

Candidate Answer: None of these

T G

QID : 178 - Transport of concrete by pumps, is done for a distance of

Hu g1 e o uiag, Eart &t & forg e e @
Options:
1) 100 m
100 #izz

2) 200 m
200 dizz

3) 300 m
300 iz

4) 400 m
400 #ex

Correct Answer: 400 m
400 Hrex

Candidate Answer: 100 m
100 #ez

QID : 179 - The compression in PSC is done by of high-strength tendons.

PSC 7 grftes geg-amef et ORI & & R ST 8|

Options:
1) Compression
grftgs

2) Tensioning
BEEicTal

3) Shearing
OO

4) Bending
el

Correct Answer: Tensioning

Candidate Answer: Tensioning
GeEicrul

QID : 180 - In which beam tension capacity of steel is greater than combined compression capacity of steel and concrete?

o w7 seuTa o e Y AT iR Shehie & T Svdtes amrd & geren 7 sfdes g &7
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Options:
1) Over-reinforced

q5e
2) Under-reinforced
-
3) Singly reinforced

Ul 4ge
4) Doubly reinforced

Zge

Correct Answer: Over-reinforced
Afw-ggE

Candidate Answer: Under-reinforced
FH-HgE

QiD:181-
If w 1s total load per unit area on a panel,
D is the diameter of the column head, L is

the span in two directions, then the sum of
the maximum positive bending moment and
average of the negative bending moment for

the design of the span of a square flat slab,
should not be less than

I YA O F AR 9 TS &T W, TOH &

e &1 s DR, o TGemst & Wi LB, &t aaier
FHAA Borh & e & Bomsa & e sfowan
TATHS dohel IO AN HOTCHE dohe IO &
AT &1 AR WY FA Al gl drigu

AZ(L-2) B2 (1+2)

a5 el

Options:
1) A Only
el A

2) B Only
et B
3) C Only
et C
4) D Only
e D

Correct Answer: C Only
Fae C

Candidate Answer: [ NOT ANSWERED |
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QID : 182 - For a circular slab carrving 2 uniformly distributed load, the ratio of the maximum negative to maximum positive radial moment is

U TR Heldh ford U GaEHM &0 § W Bl & & forg, sifdean wonenes oiR aifdeaw erenss Yeae sngul & s &

Options:
171

2)2
3)3

4) 4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED |
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If permissible compressive stress in concrete
is 50 kg/cm?, tensile stress in steel is
1400 kg /cm? and modular ratic is 18, the

depfh of the beam is

T FHRE A HAT TEdEA wiamer 50
TFAH2 8 gpmre & awer whawer 1400
farem/ae2 & 3 gedm FEaE 18§

ar e fr s §

D.44765xEB.M.
4] d B breadih

Options:
1) [1] Only
e [1]
2) [2] Only
e [2)
3) [3] Only
e [3]
4) [4] Only
e [4]
Correct Answer: [1] Only
et [1]

Candidate Answer: [4] Only
et [4]

QID : 184 - The breadth of a ribbed slab containing two bars must be between

2 BZ T YRIER Feldh $1 SeTE 394 419 gt @iy

Options:

1) 6ecmto 7.5 cm
egd # 7,549
2)8cmto10 cm
sgf g 1049
3)10cmto12cm
10 &=t 12 g+t

4) None of these

Correct Answer: 8 cm to 10 cm
gaft & 10 4

Candidate Answer: [ NOT ANSWERED |

QID : 185 - A foundation resis on which of the following?

i Frefoies § § B w anida gkt &
Options:

1) base of the foundation

= &1 aMYR

2) sub grade

3u soff

3) foundation soil

Fa Hr g

4) Both Sub grade and foundation soil
39 2o 3R A 1 P A

Correct Answer: Both Sub grade and foundation soil
30 o7 ot =fia 1 gl gl
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Candidate Answer: Both Sub grade and foundation soil
3 Afor o a i g 2

QID : 186 - Which of the following statements is true?

Preffem fdfmar s a2

Options:

1) To ensure uniform pressure distribution, the thickness of the foundation is kept uniform throughout

U g1 Ararer g e & forg, g & 9 o awg & geemr & o §

2) To ensure uniform pressure distribution, the thickness of the foundation is increased gradually towards the edge
QR 2 PR ST e B 01, 2 5 o % o ot a1 1% 7 s v &

3) To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge
U &1F [&eRvT G e & forg, g &1 9 # 8R & ok o1 gu - oR &+ gl a1t &

4) To ensure uniform pressure distribution, the thickness of the foundation is kept zero at the edge

U g Ao gRida #=a & g, 8R o g i 9reE g wh e g

Correct Answer: To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge

AT aTe Rraror gRda a= & forg, i &t e # 8k it ofk St ge off-ofR & g ot 2

Candidate Answer: To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge
U 19 e giida e & forg, g & ded # 8R 6 ok S gu oo e gl seh

QID : 187 - The weight of a foundation is assumed as which of the following?

Prafefea 4 4 frd ffa o1 yr g e &2
Options:

332% of wall weight
& g F15%

2) 7% of wall weight

ARF T F 7%

3) 10% of wall weight

&R & o H110%

4) 12% of wall weight
& go A1 12%

Correct Answer: 10% of wall weight
&R & a9 H110%

Candidate Answer: 10% of wall weight
&R & a9 FT110%

QID : 188 - If the width of the foundation for two equal columns is restricted, the shape of the footing generally adopted is

IR g FTeR T & forg g &t drerd viEida & 7 8, 3t g w0 9 SUR F SR g

Options:
1) Square
anf

2) rectangular
HTIATRR

3) trapezoidal
Feremr

RS
4) triangular
Freriofa

Correct Answer: rectangular
HTIATHRR,

Candidate Answer: trapezoidal
forem agedeia

QID : 189 - Maximum shear stress theory for the failure of a material at the elastic limit is known as

veTey HAr R ardt i fAmeran & i oftean s nfdee &l 35 wu d WSS E

Options:
1) Guest's or Trecas' theory

e 1 o Rigie

2) St.Venant's theory
Tz a1 g

3) Rankine's theory
Wi o1 R

4) Haig's theory

& Rigia

Correct Answer: Guesi’s or Trecas’ theory
e a1 fopr Ragia

Candidate Answer: Haig's theory
& R
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QID: 190 -
A simply supported beam carries a varying

load from zero at one end and w at the
other end. If the length of the beamis a,
the maximum bending moment will be

T S A AT A S T oR T AR wi
3T Y OR &7 9% wil 3R 7 #
WSS o g, A Hitwan g AT g
wa
ﬂ«];2

wa
] A
]wza
V27

']“*”_‘Iz
93

Options:

1) A Only
e A

2) B Only
e B

3) C Only
FHaa C
4) D Only
Fae D

Correct Answer: D Only
e D

Candidate Answer: [ NOT ANSWERED |

QID : 191 - When not specified, the volume of steel in R.C.C. work is taken as:-

TE g ol edd S omas_ Paremang

Options:

1) 1% to 1.6% of R.C.C. volume

AR s F 1% H 1.6%

2) 2% to 4% of R.C.C. volume
AT FT2% F 4%

3) 4% to 6% of R.C.C. volume

ARG AT F14% H 6%

4) 0.6% to 1% of R.C.C. volume
AT H10.6% T 1%

Correct Answer: 0.6% to 1% of R.C.C. volume
I H0.6% F 1%

Candidate Answer: 2% to 4% of R.C.C. volume
AR T 2% 4%

QID : 192 - The ratio of maximum shear stress to average shear stress of a circular beamiis:
A 2/3
B.3/2
C.3/4
D. 4/3

TR dH &1 At sy ufee ofR siba sisuor nides &1 e &
A 2/3
B.3/2
C.3/4
D. 4/3
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Options:
1) A Only
e A
2) B Only
e B
3) COnly
Fad C
4) D Only
FadD

Correct Answer: D Only
e D

Candidate Answer: B Only
e B

QID : 193 - The property of a material by which it can be beaten or roll

Tt o1 1T e ZR1 58 e SR a1 YRR e ST ST Gehdt &, e &
Options:

1) ductility

Sain)

2) plasticity

TR

3) elasticity
TcTEdl
4) None of these

FAYHE TG

Correct Answer: None of these
Y P T

Candidate Answer: ductility
a=dr

QID : 194 - What is the limit to Poisson's ratio?

TigEH & HUTd eh AT = &7
Options:

101

2)02

3)03

4) None of these
TR FE A

Correct Answer: None of these

T8 & HE TG
Candidate Answer: 0.3

QID : 195 - Among the following, which is least elastic?

Prefofaa 7 8 £, T=8 97 vy g 22

Options:
1) Iron

2) Copper
R

3) Both Copper and Silver

IR SR o7 it

4) Rubber

=g

Correct Answer: Rubber

ALES

Candidate Answer: Both Copper and Silver
3R Tota gl
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QID : 196 - Two bars of different materials are of the same size and are subjected to same tensile forces. If the bars have unit elongations in the ratio of 4 : 7, then the

ratio of modulius of elasticity of the two materials is

A 47
B. 4:10
C.16:49

i arft 6t < 52 Tam oner & § ofk 37 IR gHH a9 g HRITOT foRan Sen 1 it &2 o 3eRTe didTeneor arguna 4:7 # €, af <1 awnft o va areen 1unie & s &

A 47
B. 4:10
C.16:49
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Options:
1) A Only
e A

2) BOnly

e B

3) COnly

e C

4) None of these
& ¥ e

Correct Answer: None of these
TR TE

Candidate Answer: A Only
et A

QID : 197 - If a composite bar of steel and copper is heated, then the copper bar will be under:

g 32T 3R R i TG B &1 T R 511 &, O IR 6 5 79 Aafa grft

Options:
1) tension
Gaic]

2) shear
ST

3) torsion

T

4) None of these
& ¥ e

Correct Answer: None of these

A A FE T

Candidate Answer: [ NOT ANSWERED |

QID : 198 - Pick up the incorrect statement from the following : The torsional resistance of a shaft is directly proportional to

PfaiEe 7 F 1o sy g 9T S Adeeia ufakiy R aRrsATar g g
Options:

1) modl._llus of rigidity

e T

2) angle of twist

eickcau

3) reciprocal of the length of the shaft

TR <t +Te & SgeehaTaTt

4) moment of inertia of the shaft section.

LT ST o1 Fgeameof

Correct Answer: moment of inertia of the shaft section.
SITTRE ST ST STEeargu]

andidate Answer: reciprocal of the length of the shaft
2T <l od & e

QID : 199 - Net sectional area of a tension member, is equal to its cross section area,

T 3T 1 el UR=DT &5k, I8 Hehel URDT Shel [

Options:
1) plus the area of the rivet holes

e & i & deoret & a1 & IR e &
2) divided by the area of rivet holes

EIThel &l T T {56 il &

3) multiplied by the area of the rivet holes
o e o g & et o1 1om e T el S
4) minus the area of the rivet holes

ot e & el & siowret o g o fear s @

Correct Answer: minus the area of the rivet holes
ot fede & fisgl & derwet hi Seiee v e sman &

Candidate Answer: minus the arez of the rivet holes

@ fede & gl & Sowe &1 aere v T s &

QID : 200 - When a tension member consists of two channel sections, the allowance for rivet hole is made for two holes from

1T ST A & A s gR W, Rde & By & Pw o - 9 < vl & g s smen @
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Options:
1) each web
U 39

2) each flange
T et

3) each web or one hole from each flange whichever is more
U 49 I Uelidh R 0RO g o1 ot offfes gt
4) each web or one hole from each flange whichever is less
9 71 e R R U g S it gl
Correct Answer: each web or one hole from each flange whichever is less

U 49 a1 U R uR U TRy o ft e

Candidate Answer: each web
o g
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